

Name: Rotimi Oludotunmi Godspower
matric no: 19/mthso/387
dept: MBBS/mthS
course code: mat 104

$$1 \int \sin^6 x \, dx$$

$$\sin^6 x = (\sin^2 x)^2 (\sin^2 x)$$

$$= \left(\frac{1 - \cos 2x}{2} \right)^2 \left(\frac{1 - \cos 2x}{2} \right)$$

$$= \frac{1}{8} (1 - 2\cos 2x + \cos^2 2x) (1 - \cos 2x)$$

$$= \frac{1}{8} \left(1 - 2\cos 2x + 1 + \frac{\cos 4x}{2} \right) (1 - \cos 2x)$$

$$= \frac{1}{16} (2 - 4\cos 2x + 1 + \cos 4x) (1 - \cos 2x)$$

$$= \frac{1}{16} (3 - 4\cos 2x + \cos 4x) (1 - \cos 2x)$$

$$= \frac{1}{16} (3 - 4\cos 2x + \cos 4x - 3\cos 2x + 4\cos^2 2x - \cos 4x + \cos 2x)$$

$$= \frac{1}{16} (3 - 7\cos 2x + \cos 4x + 2(2\cos^2 2x) - 1 + 2\cos 4x)$$

$$= \frac{1}{16} [3 - 7\cos 2x + \cos 4x + 2(1 + \cos 4x) - 1 + 2\cos 4x + \cos 2x]$$

$$= \frac{1}{16} [3 - 7\cos 2x + \cos 4x + 2 + 2\cos 4x - 1 + \cos 2x + \cos 4x]$$

$$= \frac{1}{32} [6 - 4\cos 2x + 2\cos 4x + 4 + 4\cos 4x - \cos 2x - \cos 4x]$$

$$= \frac{1}{32} [6 - 15\cos 2x + 6\cos 4x - \cos 6x]$$

Let $\sin 6x = R$

$$R = \int (6 - 15\cos 2x + 6\cos 4x - \cos 6x) dx$$

$$R = \frac{1}{32} \left(6x - \frac{15\sin 2x}{2} + \frac{6\cos 4x}{4} - \frac{\cos 6x}{6} \right) + C$$

$$\int \sin 6x = \frac{6x}{32} - \frac{15\sin 2x}{64} + \frac{6\cos 4x}{128} - \frac{\cos 6x}{192} + C$$

$$2 \int \cos^4 x \sin^8 x$$

$$u = \cos x, \quad \frac{du}{dx} = -\sin x, \quad dx = \frac{-du}{\sin x}$$

$$\sin^2 x = 1 - \cos^2 x$$

$$\sin^2 x = 1 - u^2$$

$$\int \cos^4 x \sin^8 x = \int \sin x \cdot \sin^2 x u^4 \frac{-du}{\sin x}$$

$$= -\int (1 - u^2) u^4 du$$

$$= -\int u^4 - u^6 du$$

$$= -\left[\frac{u^5}{5} - \frac{u^7}{7} \right] + C$$

$$= -\frac{u^5}{5} + \frac{u^7}{7} + C$$

$$= -\frac{(\cos x)^5}{5} + \frac{(\cos x)^7}{7} + C$$

$$\int \cos^7 x \sin^3 x = \frac{(\cos x)^4}{4} - \frac{(\cos x)^6}{6} + C$$

$$3 \int \cos x \sin^3 x dx$$

$$\sin^3 x = 3 \cos^2 x \sin x - \sin^3 x$$

$$\sin^2 x (\cos x) = 1 - \cos^2 x$$

$$= \int -(\cos x - 4 \cos^3 x) \sin x dx$$

$$\cos x = u$$

$$- \sin x dx = du$$

$$= \int (4u^3 - u) du$$

$$= \int (u - 4u^3) du$$

$$= \frac{u^2}{2} - u^4 + C$$

$$= \frac{\cos^2 x}{2} - \cos^4 x + C$$